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TGT English 

Q 1). Recently, President Droupadi Murmu has renamed the Durbar Hall of Rashtrapati 

Bhawan. What is the new name of the Durbar Hall? 

(A) Kirti Mandap 

(B) Prasad Mandap 

(C) Ganatantra Mandap 

(D) Gandhi Mandap 

Correct Answer: (C) 

Q 2). Recently, 4th Capacity Building Program for the Civil Servants of the Socialist Republic 

of which country has commenced at NCGG, Mussoorie? 

(A) Sri Lanka 

(B) Mauritius 

(C) Madagascar 

(D) Seychelles 

Correct Answer: (A) 

Q 3).  Recently, which of the following typhoons has pummeled Japan? 

(A) Biparjoy 

(B) Yagi 

(C) Shanshan 

(D) Mocha 

Correct Answer: (C) 

Q 4). Students identify the sub concepts from the generalization in which of the following 

phases of concept mapping? 

(A)  Propositional Phase 

(B)  Application Phase 

(C)  Closure Phase 

(D)  Presentation of Abstraction 

Correct Answer: (D) 

Q 5). In which stage, children are able to think about things in terms of consistent physical 

features? 

(A) Sensory Motor 

(B) Concrete Operational 

(C) Pre-Operational 

(D) Formal Operational 

Correct Answer: (C) 
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Q 6). Which of the following is not the main feature of RTE Act? 

(A) Free Elementary Education for all children in age group 6-14 years in a neighbourhood 

school. 

(B) Completion of Elementary Education even after fourteen years of age. 

(C) Private Tuitions by teachers is not prohibited. 

(D) No child is denied admission due to lack of age certificate. 

Correct Answer: (C) 

Q 7). He was waiting for ___ chance. After many years he got _____ chance. 

(A) a, the 

(B) the, the 

(C) the, a 

(D) a, a 

Correct Answer: (A)  

Q 8). Identify the tense of the following interrogative statement. 

How long have you been waiting for me? 

(A) Present Perfect Progressive 

(B) Present Progressive 

(C) Future Perfect Progressive 

(D) Future Perfect 

Correct Answer : (A)  

Q 9). Choose the correct synonym for the given word - Candid 

(A) Vague 

(B) Secretive 

(C) Anxious 

(D) Straightforward 

Correct Answer : (D)  

Q 10). Find the correctly spelt word. 

(A) Deference 

(B) Defferance 

(C) Defference 

(D) Deferance 

Correct Answer : (A)  
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Q 11). Mr. Shah understood the process __________. 

(A) throughly 

(B) thoroughly 

(C) through 

(D) thoughly 

Correct Answer : (B)  

Q 12). In which of the following sentences the word ‘culture’ or any of its variations is used 

as ‘verb’? 

(A) The culture you belong to is different. 

(B) There was a cultural show. 

(C) His voice is cultured. 

(D) Different cultures have different values. 

Correct Answer : (C)  

Q 13). In ‘He walks fast.’ the word ‘fast’ is _______. 

(A) an adverb 

(B) an adjective 

(C) it can be an adverb and an adjective 

(D) neither adjective nor adverb 

Correct Answer : (A)  

Q 14). The boy, who accepted his mistakes, ________ punished. 

(A) was 

(B) were 

(C) has 

(D) are 

Correct Answer : (A)  

Q 15). Which of these is not a type of sentence? 

(A) Simple 

(B) Continuous 

(C) Compound 

(D) Complex 

Correct Answer : (B)  
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Q 16). A person who regards the whole world as his country is ________. 

(A) Cosmopolitan 

(B) Nationalist 

(C) Patriot 

(D) Metropolitan 

Correct Answer : (A)  

Q 17). Complete the following dialogue by choosing the most appropriate option from those 

given below: 

Juhi        : _____________________ 

Jaimini   : I wouldn’t say that. It looks fine to me. 

Juhi        : Are you kidding. She’s behind the times. That style went out last year. 

Jaimini   : Oh, come on, as long as it looks good on her. 

(A) Wow, you’re really as outdated as she is. 

(B) No wonder you never buy me a new dress. 

(C) Her dress looks funny. 

(D) What’s the point of keeping yourself in style? 

Correct Answer : (C)  

Q 18). Man is mortal. (Change it into negative in such a way that the meaning remains the 

same.) 

(A) Man is not immortal. 

(B) Man is not mortal. 

(C) Man is nor mortal. 

(D) Man is without mortal. 

Correct Answer : (A)  

Q 19). Which sentence uses the correct form of the comparative adjective? 

(A) This is the most tastiest dessert I've ever had. 

(B) She is the smarter student in the class. 

(C) This book is more interesting than the last one. 

(D) It was the goodest movie I've seen. 

Correct Answer : (C) 
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Read the poem given below and complete the sentences by choosing the most 

appropriate answers out of the options that follow.(Q-20) 

Man’s Eternal Glory 

Let us live for a cause 

and do the optimum good to others; 

and build edifices of virtue 

Which the onslaught of time cannot destroy 

Let us love the poor and the sufferers 

and lift and nurse them; 

and leave behind happy impressions, 

Which nothing can fade nor blur. 

Let us drive away the existing mist 

from the minds of the befogged; 

and dispel their doubts, superstitions 

and depression forever. 

Let us divert the horrid engine of science 

into useful channels of human endeavour; 

and build castles of shining splendor, 

reflecting the sparkling light of man’s glory 

Q 20). Nothing can fade or blur the acts of ___________ . 

(A) cruelty towards poor 

(B) kindness towards poor 

(C) hatred towards poor 

(D) ignorance towards poor 

Correct Answer : (B) 

____________________ 

 

 


